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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic
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What are the different modes of transport? Explain specific function
of each of them.
Briefly discuss the historical development of road construction.

Explain the necessity and object of highway planning
Discuss the first twenty year road plan and its salient features.

OR
The area of a certain district in India is 14,500 sq.km and there are
13 towns as per 1981 census. Determine the lengths of different
categories of roads to be provided in this district by the year 2001.

Explain the factor affecting ideal highway alignment.

Explain briefly the various stage of work in a new highway project.
OR

Draw the cross section of road with standard dimension .Also

Explain formation width.

Explain PIEV theory.

The radius of a horizontal circular curve is 100m.The design speed is
60 kmph and the design coefficient of lateral friction is 0.15
(a) Calculate the superelevation required if full lateral friction is
assumed to develop.
(b) Calculate the coefficient of friction needed if no
superelevation is provided.
(c) Calculate the equilibrium superelevation if the pressure on
inner and outer wheels should be equal.
Calculate the length of transition curve using the following data:
Design speed = 80kmph. Radius of circular curve = 200m
Allowable rate of introduction of superelevation (pavement rotated
about the centre line) =1 in 150
Pavement width including extra widening = 7.5m

OR

Explain flexible and rigid pavement. Draw the cross section of both
pavement and show the component parts.
Explain the mechanics of soil stabilization.

Explain the importance of highway drainage.
Explain with sketch how subsurface drainage system is provided to
lower the water table.
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Write the object of road side development.

Calculate the annual cost of a stretch of highway from the following
particulars:
Item Total cost Estimated life, Rate of
Rs.in lakhs year interest %
Land 14.0 100 7
Earth work 8.0 50 9
Bridge and 6.5 70 7
culverts
Pavement 15.0 15 11

The average cost of maintenance of the road is Rs.1.6 lakhs per
year.
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Item Total cost Rs.in | Estimated life, | Rate of interest
lakhs year %
Land 14.0 100 7
Earth work 8.0 50 9
Bridge and 6.5 70 7
culverts
Pavement 15.0 15 11
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